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(003) 4 il 2% B¢ (025100) 4 it (01)4x = EWE 5101 *r**rrkark (0027 91.08 fij -
(003) 4 il 2% B¢ (025100) 4 it (01)4x = ERE 21Q7*rxxkkxkx(0523 91.00 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih 2 RIE 51Q3**xkxxrk(029 90.20 fisi -+
(003) 4 il 2% B¢ (025100) 4 it (01) &= EIL 5QQ2**xrkkxrix(220) 88.95 fill 1=
(003) 4 il 2% B¢ (025100)4: it (01) &= A A 430 **xriknxk 8] 3 87.60 fill 1=
(003) 4= 2 5% (025100) %> Fil (O1)&:fih 2 ZELERT 511Q**rrkrkerk83] 5 87.55 fisi -+
(003) 4 il 2% B¢ (025100)4: it (01) 4= F 510G+ **rrkark 845 87.38 fij -
(003) 4 il 2% B¢ (025100) 4 it (01) 4= ) 2203 *rxxxkkxrk 004X 87.23 fi
(003) & fih it (025100) %> Fil (01) &= fit 2 BB 3504 *rixiniir504Q 87.23 fisi -+
(003) 4 il 2% B¢ (025100) 4 it (01) 4= Iy 41 27 *xrxxxkxx] 8GX 86.75 fij -
(003) &=t 2 ¢ (025100) 4 it (01) 4= BER 6104 *rrxrkxrkG] 07 86.73 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f R 3603 ***xrxrix(0049 86.28 fisi+
(003) 4 il 2% B¢ (025100) 4 it (01)&:fh = ZEW 331 Q**rrikxxkQ 2D 86.20 fill 1=
(003) 4 il 2% B¢ (025100) 4 it (01) 4= ZER UK 5101 *r*errkark3763 85.95 fij -
(003) 4 il 2% B¢ (025100) 4 it (01) 4= TR 5101 *rx*xkkxrk0424 85.95 fij -
(003) 4 il 2% B¢ (025100)4: it (01)4x = Y E e 5335 *kkkkikark) 206 85.93 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih ¢ FLRRHE 4205 *xkxxkxxD3A() 85.85 fisi -+
(003) 4= 2 5% (025100) %> Fil (O1)&:fih 2 Z=H3H 3426 *xkxrinx (0223 85.70 fisi -+
(003) 4 il 2% B¢ (025100)4: it (01) &= =Nk 41 Q7r**xrkxx*DED G 85.70 fill 1=
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(003) 4 il 2% B¢ (025100) 4 it (01) 4= RERE 5101 *r*krkiark50] 3 85.05 fij -
(003) 4= 2 5% (025100) %> Fil (01) &2 IR E 321 Q¥rrxrriar0010 85.05 fifi
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f Py 5QQ1*****xkxxk7010 84.93 fisi -+
(003) 4 il 2% B¢ (025100)4: it (01)4x = FE®R 5331 *rikkikark] AAG 84.68 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih ¢ J& 0t 1501 **xxrixrk(]15 84.63 fisi -+
(003) 4 il 2% B¢ (025100)4: it (01) 4= EHRF 51 3Q*kwkkinrk (D] X 84.53 fij -
(003) & Fil 5% (025100)4 fil (01)&:fih2# 5398 4108r*xrkxkkxx 7564 84.48 fiji+
(003) 4 il 2% B¢ (025100) 4 it (01)4x = 7K 3408*xrxxrrkxx()346 84.38 fij -
(003) 4 il 2% B¢ (025100) 4 it (01)4x = 215 1408 *+*xrkxxxx0048 84.10 fij -
(003) 4 il 2% B¢ (025100)4: it (01) &= JEE 510G**rrkxrixGQ9D3 83.75 fill 1=
(003) 4 il 2% B¢ (025100)4: it (01) 4= AT ik 1307*+*xrkxxrx(023 83.73 fi
(003) 4 il 2% B¢ (025100)4: it (01) 4= XEZ 5QQ3*r*krkark 5387 83.50 fij -
(003) 4 il 2% B¢ (025100) 4 it (01) 4= Ba— 411 3*xrrxxixk 5346 83.50 fij -
(003) 4 il 2% B¢ (025100) 4 it (01) 4= € T 5QQ3*rx*xkkxrk 775X 83.13 fij -
(003) 4 il 2% B¢ (025100) 4 it (01) 4= RWEE 41 27*xrxxx0xx%Q (020 82.95 fi
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f KERK 51Q4r*xkxinrkBAD0 82.65 fisi+
(003) 4 il 2% B¢ (025100) 4 it (01)&:fh = ZRER G 51Q7**xkkkxrik(2D 82.03 fill 1=
(003) 4 il 2% B¢ (025100) 4 it (01)&:fh = Z=3K G527 **xkkkxkik] 298 82.03 fill 1=
(003) 4 il 2% B¢ (025100) 4 it (01) 4= [y ) 51Q3*rxxxrkxrk3790) 81.98 fij -
(003) 4 il 2% B¢ (025100) 4 it (01) 4= JETE 41 QQ**rxxxrxxx3620 81.95 fij -
(003) & fith it (025100) %> Fil (01) &= fit 2 g 3208**rkxkkkkr56DD 81.75 fisi -+
(003) 4 il 2% B¢ (025100) 4 it (01)4x = Z/NE 2103 rrxxxnerk] 8D(0) 81.65 fij -
(003) 4 il 2% B¢ (025100) 4 it (01)4x = e 1301 ¥+*rrxxrk()027 81.63 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f IS 2306 *rrkxknxk3584 81.60 fisi -+
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(003) 4 Bt (025100) < (01)<:Fh 2 13573 228 321 2rxrrrernir (0426 81.45 i+
(003) 4 il 2% B¢ (025100) 4 it (01)&:fh = SIS 371 3kxkxriknrk8538 81.43 fill 1=
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f FrFIF QA5 xrxxnrinx 362 ] 81.28 fisi -+
(003) 4 il 2% B¢ (025100)4: it (01)4x = KEE 41 14*xrxxxxxx51 2Q 81.25 fij -
(003) 4 il 2% B¢ (025100)4: it (01)4x = #HEE 431 1 Fxrrexrexk (0549 80.78 fij -
(003) 4 il 2% B¢ (025100) 4 it (01) &= k2 A R 43 ] rrxxrikxrk (052D 80.53 fill 1=
(003) 4 il 2% B¢ (025100) 4 it (01) &= HEH 21 Q2¥*xkkkxrik ABAG 80.43 fill 1=
(003) 4 il 2% B¢ (025100) 4 it (01)4x = 22X 3422%xkxxxinxk ] 5ET 80.40 fij -
(003) &Rl ¢ (025100)4: fil (01) &~ K& 2201 *x¥xkakink]] 29 80.38 fisi -+
(003) & Fl 5% (025100)4 fil (01)&:fih2# ik 5 5226 *xxkxrixx80)2X 80.33 fiji+
(003) 4 il 2% B¢ (025100)4: it (01) &= KRS 3306 **rrrkxxx()0G9 79.80 fill 1=
(003) 4 il 2% B¢ (025100) 4 it (01) 4= &K 331 Q*xrrkxrix 730X 79.63 fi
(003) 4 il 2% B¢ (025100) 4 it (01) &= ZHE 3205 *rrkxxx 408 79.58 fill 1=
(003) &=t 2 ¢ (025100) % i (O1) < fk 2% Y SR A] 4101 x+*xrxxixx (0620 78.78 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f FLBT ¥ 21 1] wHxkrinrk (627 78.78 fisi -+
(003) 4 il 2% B¢ (025100) 4 it (01)&:fh = YED 51 Q3**rrikkxix 3025 78.68 fill 1=
(003) 4 il 2% B¢ (025100) 4 it (01)&:fh = HH#%E 6228 **xrkkrrik] 048 78.58 fill 1=
(003) 4 £ Bt (025100) < (01)<:Fh 2 KEF 6104 **¥xrrnix3030 78.58 i+
(003) 4 il 2% B¢ (025100) 4 it (01) 4= T~ 532Q%kkkxikxik()()29 78.53 fij -
(003) 4 il 2% B¢ (025100) 4 it (01)&:fh = kA 5QQ 1 **xrikxrix8088 78.43 fill 1=
(003) &=l 2 Pt (025100)4: it (01) &= aE 3706 *xxrkxxx3110 78.00 fill 1=
(003) 4 fil 2% bt (025100) 4 it (01)4x = pulf g 2302 *k*xrkark ()54 77.65 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih 2 X3 G20 *Hxkrnrk]318 77.18 fisi -+
(003) 4 il 2% B¢ (025100)4: it (01)4x = JA 4205**rkxkkxxx(0(24 77.05 fij -
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(003) 4 il 2% B¢ (025100) 4 it (01) 4= AR R 5105 *+**rkkrrkg 060 75.83 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f LN 513Q*rkrinrk) 88D 74.35 fifi -+
(003) 4 il 2% B¢ (025100)4: it (01)4x = EERMN B1LOG*+**rrkrrk()049 73.55 fij -
(003) 4= 2 5% (025100) %> Fil (O1)&:fih2f EEWR 2224 *x¥kxknxk357 3 71.68 fisi -+
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EBUERE EHCE FEUT 5 1A] w4 W55 RS R
(004) T i 55 ¥ 24 e (020205) 7k & 5 (O1) =Mk gty 5=k K e ]2 43021 *xrikxxk 402X 91.16 firi+
(004) I 7 55 ¥ 24 e (020205) 7k £ 5 (01) =Mk gty 5=k K ilg-S 5224 x*xkkkxkik] 2AQ 88.39 firi+
(004) L7 & FH 2 i (020205) 7=\ £8 5 2 (01)F =Mk gty 5=k K gyt 3408*xrrxrrkxx 4929 87.38 fij -
(004) L7 & FH 2 i (020205) 7=\ £8 5 2 (01)F =Mk gty 5=k K K BLQ7*kxxxkkxkk] D7 87.14 fij -
(004) T i & 2 Bt (020205); )Mk 4 5 2 (03)F M rb B AL R BT sk | skEBHI 50Q1***xxrxrxx 0547 89.96 it
(004) T & B2 Bt (0202Z8)¥H $h &5t 5 (025 RiHPAT A SRR | atEa 513@*r¥wkirinr] 104 86.86 fisi -+
(004) T 75 & H 24 (0202Z8)7H %‘;’*éé g2 (03) 4=y ot REE 231 Qxrxwrrkxsk(012 80.82 fij -
(004) I /5 4 24 ¢ (020229)7itiE ?‘F%ﬁ (OL)viin = b K it 5t FETEGH 210 ¥Hxrkrnxk()325 83.52 fisi-+
(004) I /5 4 24 ¢ (0202Z9)it il 45 (OL)viin = b K it 5t FfELE B7Q7*+*rkxrkxx4] 2] 82.30 fisi -+
(004) T & B2 Bt (0202Z9)¥t B4 % (2 VEESELTI W5 R 21 1 4xwxrnnknkQG D7 82.42 fisi -+
(004) T i & 2 Bt (1201Z5) K ¥ & 34 (01) KU 5 v s5 2 fe FEFE 5QQ2***xrwrkxx()019 86.23 | HI#A
(004) T 75 & B 2= Bt (1201Z5) K #cffs & 2 (01) RHHE 5 Y e LR % 211 Q**xrrRrix29] 8 82.32 i+
(004) T 75 & B 2= Bt (1201Z5) K #cffs & 2 (01) RHHE 5 Y e W B72Qrwrkininix] 846 80.82 i+
(004) T & B2 Bt (1201Z5) K #cffs & 2 (03) &Rl R E LA 5 5 7 Hiph 2103*rHxrkrknk 2623 88.60 fisi -+
(004) L7 &5 FH 2 i (1201Z5) K B & 1 (03) &=l K A LAk 5 45 3 EV 431 3*xrrxrinxx 085 82.54 fifi
(004) T 75 & B 2= Bt (1201Z5) K #cffs & 2 (03) 4 Rl K H5 s e A, 5 5 3 G133 2301 *¥xrinir2 415 80.22 i+
(004) T 7 & L 2 B (1201Z5) K # i 3 (03) & il K H I pe Ak 5 75 3 P 431 Q*r*ririrkx 001X 74.48 fisi +
(004) T 5 & P 24 ¢ (120202) /b 4 B (OL) i Ml 55 s 5 7 sl A =X =i B11]*Hxkkrinrk] 926 88.66 fisi+
(004) T i 55 ¥ 24 e (120202) 1V & 3 (02) A b i s 5 e M AR KE 340Br**xrrkxxx(0220) 86.72 fill 1=
(004) T 7 & H 24 (120202) 1V & 3 (O1) Al fi% s 5 e M AR = R —FK 2101 *r¥xrriark(09 8 86.60 fij -
(004) L7 & FH 2 i (120202) /b 4 B (01) Al dik s 55 e Ml A = BiF 511 7¥kkkxkknrk860X 86.00 fij -
(004) L7 & FH 2 i (120202) /b 4 B (01) Al dik s 5 e Ml A ¥ 5131 ¥rxxkkxrk(205 82.76 fij -
(004) L7 &5 FH 2 o (120202) /b 4 B (01) Al dik s 5 e Ml A FZH— 341 1 ¥xrxrierk0034 82.20 fij -
(004) L7 & FH 2 i (120202) /b 4 B (01) Al dik s 5 e Ml A X &~ 433 Fxrrnrikxk AGAT 81.88 fij -
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(004) L7 & FH 2 o (120202) /b 45 B (01) Al dik s 55 e Ml A = B 1423 xrkxkinxik 7523 81.12 fij -
(004) L7 & FH 2 i (120202) /b 45 B (02)HLUT N EE A EE 2106 *+**rrkxrx (0526 87.54 fij -
(004) L7 & FH 2 i (120202) /b 4 B (02)HLUT N EE A B 1301 ¥+*xrkxxrk()322 86.86 fij -
(004) L7 & FH 2 i (120202) /b 4 B (02)HLUT N EE A ZHER 530G *+**xrkxrk()057 86.02 fij -
(004) L7 & FH 2 i (120202) /b 4 B (02)HLUT N EE A E O 3503*rrxkrriar()8AX 83.82 fij -
(004) L7 & FH 2 i (120202) /b 4 B (02)HLUT N EE A RE 3206**+¥xxrxx+5060 82.04 fij -
(004) L7 & FH 2 i (120202) /b 4 B (02)HLUT N EE A %A 532Q%kkkxkkxik()9D6 81.96 fij -
(004) L7 &5 FH 2 o (120202) /b 4 B (02)HLUT N EE A 3 2323 xrwkxkxkk DA DN 81.54 fij -
(004) L7 &5 FH 2 o (120202) /b 4 B (02)HLUT N EE A THELE 513Q*k*krkknrk (08K 81.50 fij -
(004) T 5 & P 24 ¢ (120202) /b 4 B (03) B AT 37 5 I =] HL T Bk 3302 *xkxrinx (0055 87.12 fisi -+
(004) T 5 & P 24 ¢ (120202) /b 4 B (03) B AT 37 5 I =] HL &= 34Q3*xxrnrinr 0467 83.30 fisi -+
(004) L7 & FH 2 Bt (120202) AV A B (04)iEfE K A5 Bk B FEE 5134 *xkxikkixx ()02 88.02 fifi +
(004) L7 & FH 2 Bt (120202) AV A B (04)iEfE K A5 Bk B 2= 37QQ**rixktiir 5065 85.26 fifi +
(004) L7 & 2 B (120203)if i i Bl (O1)iRiF ANV IE S 5 IR 5% B N 5QQ1 *r*rarixx8708 91.30 fifi +
(004) T & B2 Bt (120203) i i & (OL)iiF Al iz & 5 iR 45 & B Ef R 53QL*rxrkerkxk3807 85.16 fisi -+
(004) T & B2 Bt (120203)ik i i PE (02) e e 45 ik 7% 7 B BR% 5301 *wxrerxx0019 91.44 fisi -+
(004) T. 5 & B 2 e (120203)i Jii i B (O3)JiliE i P B AT N S E B AW X% 14Q2%*x¥xxixxk(01 1 92.26 fisi+
(004) T. 5 & B 2 e (120203)i Jii i B (O3)JiliE i P B AT N S E B AW AR 3703 **xxkerinx] 829 91.14 fisi+
(004) T. 5 & B 2 e (120203)i Jii i B (O3)JiliE i P B AT N S E B AW RRMEHL 5224 x*xkkxinxk(0428 86.62 fisi+
(004) -7 & H % Bt (120203)Jif 7 & # (O3) ikl ¥H o EAT N5 B AIH MRERIE 445 2*rrkxrikxkDQDQ 86.60 fifi+:
(004) T & B2 Bt (120203) i i & (03)Ji il P B AT N5 B A BT 3703F*rwrxrnx(022] 82.00 fisi -+
(004) .7 & B 2= e (1202Z2) N\ /1 BHRE (01) 52 TAT R EHLUTH B P/ 530 rHrksknkxk 707 87.69 it
(004) L7 &5 FH 2 o (1202Z2) \ J3 82 5% OL) R TATHEHLITH ZE N 510Q*+**xikxsx())29 87.14 fifi
(004) .7 & B 2= e (1202Z2) \ /1 51 E (01) 52 TAT R EHLUTH KEE 1422 x*xkxkxkxxQ0G9 86.24 it
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EBUERE EHCE FEUT 5 1A] w4 W55 BRAmE RH
(004) .7 & B 2= Bt (120222) \ 7y B 3 (02)5i3% 5 Hr I B o 2Pl Q1 Q7*r*mxrkxx] BAD 90.68 i+
(004) T 5 & P 24 ¢ (1202Z2) \ 73 B 3 (02) i3k 5 7 T i 3 A T B 1302**rrxrkxrk()029 79.20 fisi -+
(004) T 75 & B 2= Bt (120222) \ 73 B 3 (02) 512805 i I 5 21 R P U A Q7r*rxkkinR5A34 78.62 i+
(004) T 75 & B 2= Bt (120222) \ 73 B 3 (D2 WAL 3 ¢ EE3 1306*+*r*rxrs58D6 87.00 i+
(004) T 75 & B 2= Bt (120222) \ 7y B 3 (D2 WAL 3 ¢ I 6205 **rkrkrkx] 824 79.46 i+
(004) T 75 & B 2= Bt (120222) \ 7y B 3 (D2 WAL 3 ¢ REB 211 ] *¥xrinix2 320 79.42 i+
(004) T & B2 Bt (1202Z5) i by & 4 (03)¥H P& AT JT 5% wEE A4Q F¥rxrreink (0313 87.94 fisi -+
(004) T 5 & P 2 ¢ (1202Z5) i 378 s 3 (03)7H e 47 Rt 5t AN 5301 **x¥kxkaxkD 626 87.82 fisi -+
(004) T 5 & P 2 ¢ (1202Z5) i 378 s 3 (03)7H e 47 Rt 5t XR&F 36Q7*+*xxrinx] 020 86.46 fisi -+
(004) L7 &5 FH 2 o (1202Z5) i 378 s 3 (03)¥H 2 AT A 5% HHPE 51Q3*rxxxkkxsk)] 46 86.26 fij -
(004) T 5 & P 24 ¢ (1202Z5) i 378 s 3 (03)7H e 47 Rt 5t EEE 522 *Hxkkxinkk762() 86.06 fisi -+
(004) T 5 & P 24 ¢ (1202Z5) i 378 s 3 (03)7H e 47 Rt 5t L& 371 4xrwxrnrinx (0029 85.96 fisi -+
(004) T & B2 Bt (1202Z5) i by & 4 (03)¥H P& AT JT 5T H R 5QQ2****¥*xkxk339] 85.70 fisi -+
(004) T 5 & P 24 ¢ (1202Z5) i 378 s 3 (03)7H e 47 Rt 5t & EH 5134 x*xkrinrk()] 2] 85.36 fisi -+
(004) L7 &5 FH 2 i (1202Z5) i 378 s 3 (03)¥H 2 AT A 5% 2R 3729*xrxxxikxx 5507 85.02 fij -
(004) T & B2 Bt (1202Z5) i b7y & 9 (03)¥H P& AT JT 5T A 511Q****rkxkxx8944 84.64 fisi -+
(004) L7 & FH 2 i (1202Z5) i 378 s 3 (03)¥H 2 AT A 5% JE 4306**+*xrrkrr580Q 80.70 fij -
(004) T 5 & P 24 ¢ (1202Z5) i 378 s 3 (03)7H e 47 FHt 5t KW 5224 *xkkxknikG)8h 74.56 fisi+
(004) T & B2 Bt (1202Z5) i b7y & 4 (03)¥H P& AT JT 5T v e 14Q5*r*xkxrkxk] 042 70.96 fisi -+
(004) T & B2 Bt (1202Z5) i b7y & 4 (O5)E 45 X 5 il WL 3 A i 3303¥rrkrninr()317 93.72 fisi -+
(004) .7 & B 2= e (1202Z5) i by & 9 B (05)E B HE KI5 i W B KEE 220 ¥HxwrknkxkDBAT 83.56 it
(004) .7 & B 2= e (1202Z5) i by & 4 (05)E B HE KI5 i W B AR 3505 *k*kkkkrkx] 520 83.56 it
(004) .5 & B 2 e (1202Z9) i 5 ik v e A 3 (1) M5 245 5 R HIRTF 4108 ****xxxxx 7605 86.25 | HIH4
(004) .7 & B 2= e (1202Z9) Wit 5 fHk i e 4 (04)R W 5 {1t 7 % 7 B RS 0 il 010 4 86.78 it
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g3 3L 3|4 FEUT 5 1A] 4 S BRAmE RH
(004) .7 & B 2= Bt (1202Z9) Wit 5 fHk i e 7 (04)R W 5 1t 7 % A B BiE 41 5xrxrkririx50] 8 86.52 i+
(004) .7 & B 2= e (1202Z9) Wit 5 fHk i e 7 (04)R W 5 1t 7 % 7 B EIIl 51Q5***stsekax5939 83.10 fisi +
(004) .7 & B 2= e (1202Z9) Wit 5 fHk i e 4 (04)R W 5 1t 7 % A B EAEAIN 330 *reririnin] 81D 77.80 it
(004) .7 & B 2= e (1202Z9) Wit 5 fHk i e 7 (05) Bt 7 % £ 4 73y BrREF 3522 %kkkkkirix (03] 85.00 it
(004) T 75 & H 24 (1202Z9) 417 5 At I 8 7 (O5) ft 7 5 i 4f 3 A PXES 3701 *rrkkrkxx D729 84.46 fij -
(004) .7 & B 2= e (1202Z9) Wit 5 {4k o e 7 (05) Bt 7 % £ 4 73y ) € 42 *rxrxririx 5408 81.78 it

516 HASTT




7l R W 2 K5 2022 4F HE 77 S A U B ST A SR B 48 B
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(005) [ s i 2Bt (020206)[F Fr 7 5 2 (01)[E i 57 & B 5 EUR Yl & 22Q7xrx*xR**FR(0D DD 86.25 fij -
(005) [ R 2 (020206) [E 552 5 (O1) [ b 57 & B8 5 R ARE 510 **rrkrrnrkG8] 4 85.73 fisi -+
(005) [ i 7Bt (020206) [l 557 5 (1) b 57 5 B L 5 3R ONE 14Q2**r¥xrkxrkG5D() 85.45 fisi -+
(005) [# Fr i 2 B (020206) [F Fr 57 5 2% (01) [E bR 57 & B 5 EUR JA R B1Q7*w**xrkxxx 5524 85.25 fi
(005) [ Fr i 2B (020206) [F Fr 57 5 2% (01) [E bR 57 & B 5 EUR KE 5QQ2*+**xkkxrk894 ] 80.43 fi
(005) [ i 7B (020206) [l 557 5 (1) b 57 5 B L 5 3R AT A1 ] Br+*rrxrir 4803 80.05 fisi -+
(005) [ i 7B (020206) [l 557 5 (1) b 57 5 B L 5 3R X 58 2 513Q¥*tikrierk) 303 78.48 fisi -+
(005) H br 2B (020206) [H 5 51 5 % (02) Hl bR 5 5 4=t 2R 513 *rkekarink] 220 88.90 fji+
(005) [ frm i 7 Bt (020206) [l 557 5 (02) Hl bR 5 5 4=t W it 5224 *xwkxinrkg0] ] 84.60 fisi -+
(005) ] b i 2Bt (020206) i ) (02)H F 57 5y &5 4= Fil (E7s S 430 7Frrrixxi 320X 84.25 fii
(005) [ R i 2B (020206) [E 552 5 (02)[H 5 57 5 5 4 il L X will 511 4x*xnxinri] 109 83.25 fisi -+
(005) [ B i 2 e (020206) [l 557 5 (02) Hl bR 5 5 4=t 5 3502 **xkxrinx 5026 82.70 fisi -+
(005) [H b i 24 (020206) [H B 5 2% (02)H b 5 5 4= fih BRA 511 7xwxkxknkxx (0262 82.55 fisi +-
(005) [ R i 2B (020206) [E fr 52 5 (02)H F 57 5y 5 4= il RIKY 1302 *x¥xrixrx()629 82.35 fisi -+
(005) [ frm i 7 Bt (020206) [l 557 5 (02) Hl bR 5 5 4=t Hfk 5101 ***kxkxr 5026 81.45 fisi -+
(005) [ b 2B (020206) [H 5 51 5 % (03) &l b ik 25 7 234 342G¥*rxrirink 4625 79.55 fji+
(005) [ b i 2 B (020206) [F Fr 57 5 2 (04)—iF—i% 5 HH ™R &l X T 232G+ r*xrkrrk() 5] 88.95 fij -
(005) [ R 2 (020206)[F Fr 7 5 2 04— —it 5 HHTA 55X pl[:= 351 14Q3rr*xrxxikD 48 86.88 fij -
(005) H br 2B (020206) [H 5 51 5 % (04)—r—i 5 H B H 5 idER X MR 5335k rktiikink] GG7 86.70 fji+
(005) [ R 2 (020206)[F Fr 7 5 2 04— —it 5 HHTA 55X S 3708*xrxkxinxx D802 84.13 fifi 4
(005) [ R i 2B (020206)[F Fr 7 5 2 04— —i 5 HHTA ZilRX B e i 4] ] 5¥xrHwxinxx 300 82.75 fifi
(005) [ R i 2B (025400) [ Fr i 45 (O1)h [H 2 =] E Prik BRR 5QQ ***krerk(8] 2 86.73 fisi -+
(005) H br 2B (025400) [H B i %% (02)H [E 2 =] E Brib, FHR 1422 xkkxkxinkk ] AAX 86.43 fisi +-
(005) [ R i 2B (025400) [ Fr i 4% (O1)h [H 2 =] E Prik Y- 510 **rkxixxx()026 83.83 fisi+

W17 A5




7l R W 2 K5 2022 4F HE 77 S A U B ST A SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(005) [ R 2 (025400) [ Fr i 4% (O1)h [E 2 =] E Brik TR 4101 r+*xrxrkex (020 83.18 fifi -+
(005) H br 2B (025400) [H B i %% (01)H E A =] E Rk TRER 14071 rkxsarirx02] 81.88 fifi+
(005) [ R 2 (025400) [ Fr i 4% (O1)h [H 2 =] E Prik IRERAT 2106 **r*rrxrx8268 80.80 fisi -+
(005) [ B i 2 e (025400) [l b7 %% (01 [ 2 =] [HBrik, kIR 34Q3r*xrrnrier (07 80.68 fisi -+
(005) H br 2B (025400) [ 7 75 45 (01 [ 2 =] [HBrik, FEEH 51Q@*r*rikrinxq] §7 80.65 fji+
(005) [ Fr i 2B (025400) [ bri& 45 (02) [E frogs 5 5 [ B 4 il 7 2 Y AN 51 3Q**rrkxxrx 5564 84.85 fii+-
(005) H br 2B (025400) [H B i %% (02) Fl br&h 55 5 5 4 fik A 1 ik 3202 *rixkainr55D3 83.60 fifi+
(005) [ R i 2B (025400) [H b 45 (02) [E P 5 5 [ Br 4 il 57 2 FILA 5137 *kkrkknrx (0044 82.05 fij -
(005) [ R i 2B (025400) [H b 45 (02) [E P 5 5 [ Br 4 il 57 2 XE R 1302%+*xrkxxrx(021] 82.03 fij -
(005) [ R i 2B (025400) [H b 45 (02) [E P 5 5 [ Br 4 il 57 2 PR 3308**+xxrrkxx3509 81.68 fij -
(005) [ R i 2B (025400) [ Fr i 45 (02) [ P 285 55 5 [ s 4 57 B FPE 51 15**rrkrnrk (042 81.53 fisi -+
(005) [ R i 2B (025400) [ Fr i 45 (02) [ P 285 55 5 [ s 4 57 B g 511 Q***kxkxxk()32 80.68 fisi -+
(005) H br 2B (025400) = F 75 45 (02) [ bréh 55 5 [E br< fb i 21 BER A2QQ¥*rHrkxik362] 79.95 fisi -+
(005) [ R i 2B (025400) [H b 45 (03) [E pr N\ 7 T i 3 W AR 5101 *r*krkkark 4298 87.10 fij -
(005) [ B i 2 e (025400) [l 7 %% (03) [ Fs N 7 5 5 2 biN:i] 3209 **xkxrinx (0467 83.70 fisi -+
(005) [ R i 2B (025400) [H b 45 04— —it 5 HHTA 55X kS 3203*rrkkrrkar5893 90.13 fij -
(005) [ R 2 (025400) [ Fr i 45 (04)—iF—i% 5 HH ™R &l X X EE 41Q3**xrxrinx 553 88.53 fisi+
(005) [ R 2 (025400) [ Fr i 45 (04)—iF—i% 5 HH ™R &l X BES 4102 +*xrxrkxk()] 60 85.20 fisi -+
(005) [ 7 24 Bt (025400) [H bri 45 (04)—iF—i% 5 HH ™R &l X INEF 34Q8*****xxxxx (0226 84.75 fii
(005) [ R 2 (025400) [ Fr i 45 (04)—iF—i% 5 HH ™R &l X JE R 3303 ***rrrrker362() 83.80 fisi+
(005) [ B i 2 (025400) [l b7 %% (04)—r—i 5 H % 5 AR X R MG 5304 *xkkrinrk] 808 83.30 fisi-+
(005) [ Fr i 2B (025400) [ br & 45 04— —i 5 HHTA ZilEX Z=7% 2309**rrikrrik()3 X 82.45 fill 1=
(005) [ R i 2B (025400)[H b 45 04— —i 5 HHTA ZilEX R ¥EL 513Q*rkrikxrx ()05 X 80.88 fifi
(005) [ R i 2B (025400) [H b 45 (04)——i 5 H HH itk X MERELN 41 Q] *Frrxrriar0029 80.75 fij -

518  HASTT




7l R W 2 K5 2022 4F HE 77 S A U B ST A SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(005) H bR 2B (025400) = 7 75 45 (04)—r—i 5 H B H 5 idER X ik BOQ2*r*xkxrkxx(043] 78.78 fji+
(005) [ R 2 (1202Z1) ¥ Br 7 45 (02) 5 [E 2 =] ik & 5 24 7ra3C 51O **xkxknrkG 287 87.45 fisi -+
(005) [ R 2 (1202Z1) 1 B 7 45 (02) 5 [E 2 =] ik i 7 2 KEAF AABFrrxxknrinr] QA8 84.85 fisi -+
(005) [ R i 2B (1202Z1) ¥ B 45 (02) 5 [E 2 =] ik i 7 2 RRERE B543+*rrkrknrk()027 83.30 fisi -+
(005) [H b i 24 (1202Z1) = b 45 (03) 5 [H 4 fit 5111 %% T 2101 ¥¥rrxiaiakG92Q 86.38 fifi+
(005) [H b i 24 (1202Z1) = b 45 (03) 5 [H 4 fit 5111 %% TR ERG 3201 wrwrkrinix ()27 84.18 fifi+
(005) [ R i 2B (1202Z1) 1 B 7 45 (03) 5 [E 4 il 5 4 45 5] ik 22 FHxkrknrk8E 25 79.80 fisi -+
(005) [H [ i 2% (1202Z1) & Fr i 45 (04) 1 [E 2 =] E Brib, B—FF 1403 rkrknioninn] 847 86.65 fifi+
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EBUERE EHCE KU F T 9] w4 W55 RS R
(006) 4t it22 Pt (020208)%: it2# (01) =M & BF G- 7t kAR 5138 *r¥krkkark 3297 87.53 | Hi#4A
(006)4t it (020208)4; 112 (OL)ZEMEA TRt 75 Gk 3408 r**xrnrinr (0625 86.27 fisi -+
(006) 4t it22 Pt (020208)4t it-2# (01) EMA 48t Y E 4304 *xxikxxx(0()18 84.37 fifi+
(006)4t it (020208)4; 112 (OL)ZEMEA TRt R 3601 *+*xxrinx 5029 66.20 fisi -+
(006)4t it (020208)4: it2# (02)&:fhg it JiSCE 130Qr**xkkxrik 29X 89.60 fi
(006)4t it (020208)4; 112 (02)&:fhg it HHth 13Q7**rkxrixrx 062X 85.87 fisi -+
(006)4t it (020208)4; it2# (02)&:fhg it X 1 4106**+*xrrxxx0024 77.20 fij -
(006) %t 112 B (020209) % & 4 5 2 (02)1HEL =I5 N L UY'S 51QG**kxkeknk] 7085 78.47 | Hi#HA
(006)Zi it e (020209) &£ it (01) &l & 7 by WHEE 511 3*xwerkniax()] 54 90.33 fisi -+
(006) 4t it 2Pt (020209) % & & 5 2 (01) &b & A Kt 43Q7r*xxkRxexx 0024 65.87 fill 1=
(006)Zi it e (020238) 22 % K EH 73 Hr (00) AN X 43 Bt 58 J7 111 A BAQ3*HH*F*RH**(Q23 83.60 fisi -+
(006)Zi it e (020238) 22 % K EH 73 Hr (00) AN X 43 Bt 58 J7 111 KRB 51O **xekkriax G624 83.33 fisi -+
(006)4t it (025200) 3 H 4t it (OL)&:fhg it RFEF B11G***rkxkxxk(017 88.20 fisi -+
(006)4t it (025200) 3 H 4t it (O1)&:fhg it Z={E 1% 4325 xxxkxkinx 7 (0] 84.60 fisi -+
(006)4t it (025200) 3 FH 4t it (OL)&:fh it Az 3408*xrxxrrkxx750() 84.54 fij -
(006)4t it (025200) 3 FH 4t it (OL)&:fh it R 5111 ¥kkexrkxrk 026 84.47 fi
(006)4t it (025200) 3 FH 4t it (OL)&:fh it RS 5103*+**xrkxrx()025 83.70 fi
(006)4t it (025200) 3 H 4t it (OL)&:fh it AR 7k 2102r*x¥kxinikG] 89 82.47 fisi+
(006)4t it (025200) 3 FH 4t it (OL)&:fh it W T 230Q*+*xxrkxik()386 81.93 fi
(006)4t it (025200) 3 H 4t it (OL)&:fh it KT 210 FHxmixinxk] D4 80.07 fisi+
(006)4t it (025200) 3 H 4t it (OL)&:fhg it FEE 1308**rwxrinrk] 628 77.47 fisi -+
(006)4t it (025200) 3 FH 4t it (OL)&:fhg it EFFER 1201 ¥+*rrierie30] X 67.10 fij -
(006) 4t it22 Pt (025200) 3 FH 4t it (02) KE A 43 it RO B502xk**xkkxkk()7 ] 88.47 fij -
(006) 4t it22 Pt (025200) 3 FH 4t it (02) KE A 43 it TER 131 xmwxrknxrk(2 2] 88.47 fij -
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EBUERE EHCE KU F T 9] w4 W55 RS R
(006) 4t it22 Pt (025200) 3 FH 4t it (02) KE s 43 it BR R 411 THxrRxxRkxxT5EE 88.03 fij -
(006) 4t it22 Pt (025200) 3 A 45 it (02) KE s 43 it ZTH 321 Q**xrikxxx (0927 87.67 fill 1=
(006)4t it (025200) 3 FH 4t it (02) R a4 #ir v b 513Q%kxkxkkxrk) )68 87.54 fij -
(006)4t it (025200) 3 H 4t it (02) R a4 #ir B AR 4301 rxxsxrinx] 8D () 87.13 fisi -+
(006)4t it (025200) 3 FH 4t it (02) R a4 #ir W IE3E G227 *r¥xrkark())2 ] 86.93 fij -
(006) 4t 112 (025200) B I & it (02) K &4l 43 bt EBH 1306**rHrkinix 7309 84.87 | Wit
(006) 4t it22 Pt (025200) 3 FH 4t it (02) KE A 43 it HEE 1309 +*xrkxxik] 020 84.70 fij -
(006) 4t 112 (025200) B I & it (02) K &4z 43 b WER 5QQ1 *+tkrkreix 2549 83.50 | Wit
(006)4t it (025200) 3 FH 4t it (02) KE A 43 it &K 5101 *r*errkark30] 8 83.33 fij -
(006)4t it (025200) 3 FH 4t it (02) R HE 47 #ir Z= 5 [ 3406*rr*xrrkar780 ] 81.43 fij -
(006)4t it (025200) 3 H 4t it (02) KEds s THET 3302 **rrnrinr 5027 81.33 fisi -+
(006)4t it (025200) 3 FH 4t it (02) R HE 47 #ir BFH 21Q3¥rxxxneik] D8 80.67 fij -
(006) 4t i1 b (025200) 5 F 4t it (02) KHHE 7 by BrizE 3408H*rrininix8 ] 80.53 bt
(006)4t it (025200) 3 FH 4t it (02) R HE 47 #ir 2= 3729*xrrxxikxx (0066 80.40 fij -
(006) 5t 112 (025200) B I & it (02) K &4l 43 bt FEH 21 Q1 *rrirkkkk*(0427 79.80 | Wit
(006) 4t it 2Pt (025200) 3 FH 4t it (02) KE A 43 it TR 421 Q¥rr¥xrxx(0022 79.20 fij -
(006) 4t it 2Pt (025200) 3 FH 4t it (R EA DN E T &8 331 Q¥xrrerrkxx ()22 83.53 fij -
(006) %t 112 B (025200))3% F 4 it (03) & ik K H 4 73y KIAE 5202 *xkxkekxk 4024 81.47 fisi +
(006)4t it (071400)4; 112 (0O) AN X 3 Wt 9 77 171 H R 510 **xkxkxxk(029 93.10 fisi+
(006)4t it (071400)4; it2# (0O) AN X 3 Wt 9 77 171 EFE 511 G*r*srrkrrk027 92.03 fij -
(006)Fi it Bt (071400)4t it~ (00)ANIX 738t 5 J7 [ X #EAR 34 2% wkkxininx ()220 91.90 fifi+
(006)4t it (071400)4; it2# (0O) AN X 3Bt 98 77 171 FHAE 4600**+**xx*+%0020 91.53 fij -
(006)4t it (071400)4; 112 (0O) AN X 3Bt 98 77 171 B IRT 1B, 5111 **xkkrirk(0048 91.00 fisi -+
(006)4t it (071400)4; 112 (0O) AN X 3 Wt 9 77 171 TR 14Q2¥*x¥xxixxk 352D 90.97 fisi -+
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EBUERE EHCE FEUT 5 1A] w4 W55 RS R
(006)4t it Pt (071400)4; 112 (0O) AN X 3 Wt 95 77 171 TRAE 1201 **xkxrixx 3223 88.80 fisi -+
(006)4t it (071400)4; 112 (0O) AN X 3 Wt 9 77 171 L E 32 BQQ2***¥*xkaxk 7566 83.67 fisi -+
(006) %t 112 B (071400)%t it (00) AN X 73t 55 J7 1) A 3723xrwkkrinir] 53 83.04 it
(006)4t it (071400)4; 112 (0O) AN X 3 Wt 9 77 171 peS 230 7*xrkxinxk(0824 82.47 fisi -+
(006) 4t 112 (071400)%t it (00) A X 43 B 78 J5 7] e 1427 *xknninin] 423 81.27 | Wit
(006) 4t it22 Pt (120100) FER} 2 5 T8 (Ol RG LR kRl =38 S113¥HHii* 4527 91.93 | HiHA
(006) 4t it22 Pt (120100) FEAR} 2 5 T8 (Ol R&G LR kRl LEEEs 511 3*HHrei* (25X 89.27 | HIHA
(006) %t 112 B (120100)% B 2 5 T A2 (02) 4 ik X H 4l 23 17 5 AU 85 341 HBAE A3Q5*r*rxrkx*GIAT 84.47 it
(006)4t it (120100) & H Rl 2 5 T (O1) < ik R4 7 A7 55 XU 7 3 TR 371 5*rxrrrrir 5605 82.93 fisi+
(006) %t 112 B (120100)% B 2 5 T A2 (02) 4 ik X H 4l 23 1 5 AU 5 241 3% R 511 7%xxsxkekex 002X 80.87 it
(006)Zi it e (120100)% BEA 22 5 T A2 (01) &R A 73 B 5 RIS 7 2 %%k 522 *xwxkkkixk(42] 77.07 fisi -+
(006) %t 112 B (120100)% B 2 5 T A2 (02) 4 ik X H 4l 23 17 5 AU 5 341 PEETS Q52 rxrininix ()6 44 67.50 it
(006) %t 112 B (120100)% FIRl 2 5 T8 (02) R4 TFE 5 Uil 2 HWNZ 513Q****+ixxk(0040 80.30 fift +
(006)Zi it e (120100)% B 2 5 T A2 (03) k55 k25 55 b 7 A A 34 BigHE 513Q*r*rrerkax8883 83.67 fisi -+
(006) %t 112 B (120100)% B 2 5 T A2 (03) Ak 55 Ak 25 55 b 7 A A 34 B 1) A 4 1 frrxririnix 3630 80.03 i+
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EBUERE EHCE FEUT 5 1A] w4 W55 RS R
(007)F [H &:RbAF 5t 0y | (020204) 4 filiE (03) T2 MBUK 5 Z W% 2 4101 ¥+*xrxrkxx007 6 90.58 | Hi#4E
(007)rF [ x@hffF 70y | (020204) 4 fil~ (OB AT 5 A\l 4 Hl ZE BL27**rrkrinrk()D D5 87.73 fisi -+
(007 [E &xmiff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil Xl = i 4206**+*xrxx*x2 ()19 86.28 fisi -+
(007) [H &@hffF ety | (020204) b2 (0L EARTIHE A = 4xfh BB 1502%*x¥k*xxk*x2119 83.68 fii+-
(007) [H @ 7e Ly | (020204) 4 fb%: (0L EARTIHE A = 4xfh |2 dy i 513Qg¥*xrrkxrr* 4520 83.53 fii+-
(007)H [H @t ety | (020204) 4%y (0L EARTIHE A = 4xfh R IE ] B1Q7**xrrkxxr 241 X 83.40 fii+-
(007) [H @ 7e Ly | (020204) 4 fb%: OL)ZEATI I E A F &l VR 2323 kkrnrinxk Q] | 83.33 fisi -+
(007 [E &xmff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil 2=k 51Q1*wxrerinx 4071 82.73 fisi -+
(007 [E &xmff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil N2 Q4B F*rHxHRAIHNE (DD 82.35 fisi -+
(007) [H @ 7e Ly | (020204) 4%y (0L EARTIHE A = 4xfh R/ 3506**+*xrrkxx D506 82.35 fij -
(007) [H @ 7e Ly | (020204) 4%y (0L EARTIHE A = 4xfh PREA 5QQ1 *r¥*xkkxrkG554 82.18 fij -
(007) [H @ 7e Ly | (020204) 4%y (0L EARTIHE A = 4xfh Ha 3708*rrkxrrkar)549 81.98 fij -
(007)H [E &xmiff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil EEES A4 EF*r*xrxrHxgD 38 81.43 fisi -+
(007) [H @ 7e Ly | (020204) 4% (0L EARTIHE A = 4xfh X[ 429Q**rxxxkxxx3010 80.15 fij -
(007) [H @ 7e Ly | (020204) 4% OL#AN I E A F S X 4E R 1502 *xwwxinrk] 861 80.00 fisi -+
(007 [E &xmifF 5t .0 | (020204) 4= (01)E A i 355 2 7] b TEME 4102¥rHrxirirk 0525 79.98 | Wit
(007 [E &xmifF 5t .0 | (020204) 4= (L) FE AT 5 ) 4 fil T8k 4304 **rkxrxx(031 4 79.48 fisi -+
(007 [E &xmifF 5t .0 | (020204) 4= (L) FE AT 5 ) 4 fil e G20 *rxwkirink] 944 78.05 fisi -+
(007)H [E &xmff 5t .0 | (020204) 4= (L) FE AT 5 ) 4 fil X2 Q1 5¥¥rkxxink 5507 78.00 fisi -+
(007)rF [ x@hffF 70y | (020204) 4 fil~ (OL) B AT 5 A\l 4 Hl I A1Q7*+*xrxrkxx 5] | 76.98 fisi+
(007 [E &xmiff st .0 | (020204) 4= (L) FE AT 5 ) 4 fil LA 131 1¥wwrrerink0429 74.93 fisi -+
(007 [E &xmff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil ek oL R 5QQ2***xkkrkak3] D5 74.58 fisi -+
(007 [E &xmff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil pupii2 2106****r*rkxx 4481 73.93 fisi -+
(007) [H @ 7e Ly | (020204) b2 (0L EARTIHE A = 4xfh FH O 4] 14*xrkxrixx ()28 73.78 fij -
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g3 3L EHCE FEUT 5 1A] w4 W55 BRAmE RH
(007 [E &xmiff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil ZER 51Q5****rkrkax51 48 72.78 fisi -+
(007) [H & @ 7e Ly | (020204) 4% (OB AT 5 A\l 4 Hl EreE 3703*xrwkrinxx3] 97 72.40 fij -
(007 [E &xmiff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil R 1301 ¥rwxkxrerk 0044 72.20 fisi -+
(007 [E &xmiff 5.0 | (020204) 4= (L) FE AT 5 ) 4 fil BB 2106***xr*rkxx 3245 71.38 fisi -+
(007) [H @ 7e Ly | (020204) 4 fb%: (0L EARTIHE A = 4xfh EFE 34Q4rx*rrrkaxx3 95 70.68 fii+-
(007 [E &xmiff st .0 | (020204) 4= (02) T MIBUK 5 7 M 3% AR 35Q5*rHkkkkir302] 84.30 | Wit
(007 [E &xmff 5.0 | (020204) 4= (02) T MIBUK 5 7 M 3% i H 1424%¥xkxxixx372() 81.40 | Wit
(007 [E &xmff 5.0 | (020204) 4= (02) 5% T BUR 5 2 Wi % WEE 3308 *rxrkrkrixg] 04 81.40 it
(007 [E &xmff 5.0 | (020204) 4= (02) 5% T BUR 5 2 Wi % X1 3 % 34 L xrwmirinir 530 80.53 it
(007)H [E &xmff 5.0 | (020204) 4= (02) 1% MEUE 5 %M BRI 5131 ¥¥rkrakak 4925 77.90 it
(007) [H @ 7e Ly | (020204) 4%y (02) 17 MBS 7 W 2 XK 231 Q¥rxxxkkxsk5] D8 72.80 fij -
(007)H [E &xmff 5.0 | (020204) 4= (O3) i AT & s B Bt 411 1xrwxrnrinx] 045 81.83 i
(007)H [E &xmiff 5.0 | (020204) 4= (03T & E B E&H 4309***rkxrixk 4GAX 79.53 i
(007)H [E &xmiff 5.0 | (020204) 4= (O3) ik AT &5 B S S 3426%*rwrxrx7QAL 78.88 fisi -+
(007)F [EH &:RbAF ety | (020204) 4 filiE (04) &Rk TR S 5= X 1411 *xrrxrkerx()] 06 82.80 fisi -+
(007 [E &xmifF 5t .0 | (020204) 4= (04) <&l TS B E M ¥ 3625 HHrkkxxDD 18 8258 | Wit
(007)rF [ @b 70y | (020204) 4 fil~ (04) &Rk TR S 5™ M BT 371 3rrxrrrriar 5346 78.18 fifit
(007)rF [ x@hffF 70y | (020204) 4 fil~ (04) &Rk TR S 5™ M LR 1304**rxxrkxrk5AD7 75.58 fifit
(007)rF [ x@hffF 70y | (020204) 4 fil~ (04) &Rk TR S 5™ M wmm Q127 xxrkxkRNNA] D] 73.38 fisi+
(007)rF [ x@hffF 70y | (020204) 4 fil~ (04) &Rk TR S 5™ M 7 1WAN A3Q5H**rkxkkxR] AGA 73.00 fifit
(007)rF [ x@hffF 70y | (020204) 4 fil~ (04) &b T2 5 %= & %E 1526 *+*rxxkkxk8428 71.08 fifit
(007 [E &xmff 5.0 | (020204) 4= (05) &l X\ [5; 5 4x 22 4 EXREE 51Q1*wwxkrkxx 727 82.88 fisi -+
(007) 4 [ & 7L rfty | (020204) 4 fil (05) 4 il X5 15 4 i 22 4 T 211 xhrtirnink()327 79.13 | Wit
(007)H [E &xmfF si .0 | (020204) 4= (05) &l X\ I5; 5 4x 22 4 {LRR 421 3Fxrwrkrrxx (002X 77.60 fisi -+
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EBUERE EHCE KU F T 9] w4 W55 RS R
(007) 4 [ & 7L fty | (020204) 4 fl (05) 4 il XU 15 4 i 22 4 Jiti 75 e 341 rrrrnirak()02X 76.70 | Tt
(007) 4 [ & 7L rfty | (020204) 4 fil (05) 4 il X5 15 4 i 22 4 FEHE 4111 xwenirn()] 6] 71.05 | Wit
(007)rF [ x@hffF 70y | (020204) 4 fil~ (06) &= fb Bl k2 2103 *rxxxrkxs 3766 80.03 fifi
(007)rF [ x@hffF 70y | (020204)4fil~ (HEEEsT EFAH 51Q5***rkiriax0] X 77.63 fisi -+
(007)rF [ x@hffF 70y | (020204)4fil~ (06) = fb Bl 37 3422%xkxxxikxxQ 6] X 74.75 fifi
(007)rF [ x@hffF 70y | (020204) 4 i~ (06) &= fb Bl X & R 37Q7*xr*xrkxxx) ()34 74.33 fij -
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